10A

1) 7terms
1A670 4+ 6A571+ 15A472 4+ 20A373 + 15A274 + 6A175 + 1A076

A6 4 4275+ 735A% + 6860A3 + 36,015A2+ 100,842A + 117,649

2) 6terms
1X5(-2)0 + 5X4(-2)1 + 10X3(-2)2 + 10X2(-2)3 + 5X1(-2)4 + 1X0(-2)5

X5 - 10X4 + 40X3 - 80X2 + 80X - 32

3) 5terms
1(3X)410 4 4(3X)311 + 6(3X)212+ 4(3X)113+ 1(3X)014

81X4+ 108X3 + 54X2+ 12X + 1
4) 7terms

1R6(-1/2)0 + 6R5(-1/2)1 + 15R4(-1/2)2 + 20R3(-1/2)3 + 15R2(-1/2)4 + 6R1(-1/2)5 + 1R0(-1/2)6
R6- 3R5+ 15/4 R4- 5/2 R3+ 15/16 R2- 3/16 R + 1/64

2
5) S A8 2 9= 2g3
78 - 10 10A2(2B) = 80A%B

3
6 Z5 _ 492 = gOX4
T =15 15X422 = 60X
1% 54
7) XSS =ap 3(.0)4 = 3
"7 ZA 35 35(2X)3(-2)4 = 4,480X
8) ._‘1‘_=4 4X3(-1/3)1 = -4/3 X3

=20 20Xx3Y3

56P3(-Q)5 = - 56P3Q5

10B

1)

4)

7

10)

4 terms
1B340 4+ 3B241 4+ 3B142+ 1B043

B3+ 12B2+ 48B + 64

7 terms
1(2X)810 4+ 6(2X)511 + 15(2X)412 + 20(2X)313 + 15(2X)214 + 6(2X)115+ 1(2X)016

64X6 + 192X5 + 240X4 + 160X3 + 60X2+ 12X + 1

6 terms
1R5(-T)0+ 5R4(-T)! + 10R3(-T)2+ 10R2(-T)3 + 5R1(-T)4 + 1RO(-T)S
R5 - 5R4T + 10R3T2 - 10R2T3 + 5RT4 - TS

5terms
1(1/2 X)4(1/2 Y)0 + 4(1/2 X)3(1/2 Y)1 + 6(1/2 X)2(1/2 Y)2 + 4(1/2 X)1(1/2 Y)3 + 1(1/2 X)0(1/2 Y)4
1/16 X4+ 1/4 X3Y + 3/8 X2Y2 + 1/4 XY3 + 1/16 Y4

1X10(2Y)0 = X10
BBAB LA
=1 0B6 = B6
T 28 ABR 18%E>=B
73
=6 232 = 2
= 6(2X)232 = 216X
bsas
= 2 5
TZZA 15 15Q2(2/3)4 =80/27 Q2
% =5 5(8R)4(-T)! = -405R4T
A C4 A20(2Y)3 = -6axYd

g01-v0l} suonnjos



10C

1) 6

2) 1X530 +5X431 +10X332 +10X233 +5X34 +1X035
X5 + 15X4 + 90X3 + 270X2 + 405X + 243

3) 7

4) 1X6(-4)0 +6X5(-4)1 +15X4(-4)2 +20X3(-4)3 +
15X2(-4)4 +6X(-4)5 + (-4)6
X6 -24X5 +240X4 -1280X3 +3840X2 -6144X +4096

5) 4(2X)1Y3 = 8XY3
6) 4(2X)3Y = 32X3Y
7) 15(X)4(-2)2 = 60X4
8) 15(X)2(-2)4 = 240X2
9) X2 + BAX + 9A2

10) (8X-7)2

11) X3 + 3X2(12) + 3X(122) + 123
X3 + 36X2 + 432X + 1728

12) (2X)3 + 3(2X)2(-1/3) + 3(2X)(-1/3)2 + (-1/3)3
8X3 - 4X2 + 2/3X - 1/27

13) (242 +1) (348 +1)_
3Y3 -1)(3¥3 +1)

646 +242 +34B +1

9-3-1

646 +240 +34B +1
26

- -8 (4-5i)

-32i + 402 _ -32i-40

4+5i(4-5) - 1g.02502

15) (-616)(i3) = (-616)(i2)(i) = 616i

16) (-12)(1f36 ) =-12(a86 1) =

12.64i=-72i
17) 6.\1;: . 948 _
64142 9P _
22 2

3 9
e

18) (4)5/2=32

2X2-3X-2 . 4X2-12X
19) +
X3 - 2X2 X2-5X+6
(2X + 1)(%=2) ) =3)(X-2) _
X2 pe=7) 4XEe=3)
2X2-3X-2
4X3

10D

1) 6

2) X5+ 5X4A + 10X3A2 + 10X2A3 + 5XA% + A5

3) 5

4) (1/3X)4 + 4(1/3X)32 + 6(1/3X)222 + 4(1/3X)23 + 24

1/81 X4 +8/27 X3 + 8/3 X2 + 32/3 X + 16

6-5-4
1.2.3

5) X3(-2/3)3 = -160/27 X3

6) % X5(-2/3) = -4X5

5-4

7) = X3(-3)2 = 3

) 5 X3(-3)2 = 90X
5.4.3.2 1

8) ———— X0(-3)5 = -243

) 32345 9

9) X2 - 4AX + 4A2

10) (4X-3)2

11) X3 + 3X2(-10) + 3X(-10)2 + (-10)3
X3 - 30X2 + 300X - 1000

12) X3 + 3X2(1/2) + 3(X)(1/2)2 + (1/2)3
X3 +3/2X2+3/4X+1/8

13)

14)

15)

16)

17)

18)

19)

20)

(8+fTT - )42 _-3)
(42 +3)442 -3)

32402 -244f1T -244P +18 _

16-2-9
32422 - 24411 - 2442 + 18
23

2 (1-9) _21-18i2 _2i+18 _
(1+9i)(1-9) 1-81i2 82
i+9

a1
540i2 = -540

(72)(-7) = -504

5
5-2-\]1—6-=

A5 A2 _ A
e 2= Y- s

A0 32410 _ -314f10
4 4 T 4

(5)3=125 or

[(125)1/31F =1251 =125

4X2-1, 4X2-4X+1 _

2X+1 8X

@TRX=T) 8X
@x%+T) £2%=1)(2X - 1)
8X

2X -1

4X + BY + 9XY5

aot-00} suonnjos



10E

1) 6

2) X5 +5X4(-4) +10X3(-4)2 +10X2(-4)3 +5X(-4)4 +(-4)5
X5 - 20X4 + 160X3 - 640X2 + 1280X - 1,024

3) 5

4) X4+ 4X32 + 6X222 4+ 4X23 + 24
X4 + 8X3 + 24X2 + 32X + 16

2
5 3
(2X)233 = (10)4X2(27) = 1080X2
1.2

6) —:5— (2X)431 = (5)16X4(3) = 240X4

7) (2X)4 = 16X4

N

-3

)

(2X)212 = (B)4X2(1) = 24X2

-
[

9) X2+ 2XA + A2

10) (6X - 1/2)2

11) X3 + 3X2(4/5) + 3X(4/5)2 + (4/5)3
X3 + 12/5 X2 + 48/25 X + 64/125

12) (3X)3 + 3(3X)2 + 3(3X) + 13
27X3 4+ 27X2 + 9X + 1

13) B (547 +4) -
(547 - 4)(547 + 4)

5456 + 48 -
257 -16 .
S5AF A4+ 44 A2 10414+ 842
159 - 159
12) -38i (2 4+ 110) -6 - 332
@-1y2+11)  4-1212
6i+33
125
15) -30i

16) (-35)(-4f16 )=-35--4 =140

17>\[T1_5+31/9—o=

IO, 3400(10) | ViD, 30480 _
Jioi0 - T 10 10

A0, 00 0+ 9015

10 10
910
10
]
18) (9)3/2=27

19) (X + 2)(%+3) . (X + 2)(X~+14) _
(X-4)X+1) (X48)(X +3)

X2 + 4X + 4
X2-X-12

+ 8X4Y5 =

4
20) 12xay5+ 10X
Y5

4
J0X* | ooxays
Y5

©
~

10)

4X
30A

X24+2X+1=-3+1
(X+1)2 =2

X+1 =42
X=-1£i42

X2-5X+ 4=0
(X-4)(X-1)=0
X-4=0 X-1=0
X=4 X=1

2(X2 +4X+1)=0
X2+4X+4=-1+4
(X+2)2 =3

X+2 =+4f3
X=-2+48

X2+4X +4=7+4
X +2)2 =11
X +2==x411
X =-2 411

3(X2-3X+1)=0

2. el e 4 paa Mo
X2 -3X + _1+4

X2-2X+1=11+1
(X-1)2 =12
X-1 =4fi2
X=1x24B

9

For most problems, the check for only one solution is shown.

The check for the other solution should be similar.

(-1+i42)2+2(-1+i42)+3=0
1228 -2-2+213=0

1-2-2+3=0

(4)2-5(4)+4=0
16-20+4=0
(1)2-5(1)+4=0
1-5+4=0

[2(-2 +aB)2 + 8(-2 +4B)+2=0]+ 2
(244832 +4(-2+4B)+1=0
4-4F13-8+40+1=0

4+3-8+1=0

(-2 +4fi1)2 + 4(-2 +4fi1)-7=0
4-4ofTT411-8+411-7=0

A 11 <8 = 7= 0

3+2'\I— L;EHS:OHS

[ 9+61I_+5 . 9+g«l€7 +1=0]x4
2

9+5@+5-18-646+4=0

9+5-18+4=0

(1+243)2-2(1+24B)-11=0
1+48+12-2445-11=0

1412-2-11=0

V1 L-301 suonnjos



